SSC-A

ZSDK—_ 250K = 250K —
200K — ZOOK—-
150K = 150K =
100K = 100K =~
T 1 <
o ] O]
n 1 (72
[T o] ; LL 0 ] AR
LA AN BN BN B LN B B S B B e LMARRERY ' RRRALILL | Ty T [T T T LI RS m e )
0 50K 100K 150K 200K 250K 0 50K 100K 150K 200K 250K 103 o 103 10% 105 103 o 103 10% 105

FSC-A FSC-A CD45 Live/Dead

B. BASM

SSC-A

T R B B e S S o 0

T T
10 lfJ4 IDS 0 10 HJ4 lCI5

Live/Dead

0 50K 100K 150K 200K 250K 0 50K 100K 150K 200K 250K

FSC-A FSC-A

SSC-A

250K 250K = 250K =
200k = 200K = 200K =
150K 150K = 150K =
100K .. 100K 100K =
50K g 50K = ’ (IJ 50K =
4 £ B I
N T B a wa a w 0] e — L 0 i )
| DAL BLELELEL NLELELELE NLELELELE NLELELELE B LARIRAES S AR e e S  LRRRRARE o LARARAAL N n 22 mum e o
0 50K 100K 150K 200K 250K
0 S0K 100K 150K 200K 250K 10 o 103 104 105 10} o 103 104 105

FSC-A FSC-A CD45 Live/Dead

D. NC

SSC-A

250K = 1 .
] 250K 250K
200K = 1 -
] 200K 200K
150K = - .
j 150K 150K
100K = ’ ] 1
100k 100K
50K < 1 < -
N sox (IJ 50K
[72] 1 [72] ]
0 (18 ] [T g
LA LI e 0 ° T
0 50K 100K 150K 200K 250K ——— T "
0 50K 100K 150K 200K 250K 10 o 10 10 10

FSC-A FSC-A CD45 Live/Dead



